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Candidates are required to give their answers in their own words as far as
practicable. e
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Figures in the right hand margin indicate full marks.
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15 minutes of extra time has been allotted to read the, questions carefully
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This question paper is divided into two sections — Section-A and Section-B
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Question Nos. 1 to 48 have four options each, out of which only | .
o 40x 1=

selected option on the OMR sheet. Answer any 40 questions.

1. ‘Wwﬁﬁwsﬂwﬁmwmﬁwm?
(a) gl | ®) i & T

(©) WA - | D) T

In which post did Victor Emmanuel appoint Count Cavour 4

(A)  Army Chief (B) Ambassador in France

(C)  Prime Minister (D) Home Minister

2  ﬁﬁ@?ﬁgaﬁﬂ%aﬂwmﬁmm 7
(A) At o | | : (B) fgzat
© fowms | o fafemmEr

Who started the policy of blood and iron ?

(A)  Mazzini (B) Hitler
(C) Bismarck . (D)  William I

3. et Y ST ecT ST el g Ar 2

A  wH (B)  SmAH
© ) wE
' [ 111]A 5911—A any | Page 3 of 24 IR
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Where was the first experiment of the communist governance started ?

(A)  Russia (B) Japan

(C)  China (D) Cuba

4. diesifae shifd el g8 ?

(A) HIET, 1917 B) T, 1917

(© e, 1917 © .+ (p) TEaeR, 1905

When did the Bolshevik revolution take place ?

(A)  February, 1917 (B)  November, 1917

(C)  April, 1917 (D)  September, 1905

5. fee-di ugen Tt yod AR HA 9 2

| A) TvS (B)  TRIEE!
(C) I D =
! Who were the first merchant to arrive Indo-China ?
'j : (A) England | (B) French
| (C)  Portugal (D) Dutch
6. @i e ARG Fe IE gIAT 2
(a) 1920 B) 1930
(C) 1935 | (D) 1942
[ 111 ]>A, 5011-A qy Page4iotiz4
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When did the civil di . 03
(A) 1925 (D) 1942
o
| gr-gET FE §
7. | i
‘ AR o
©) e Wl o (D) |
/ .
Rourkela iron and steel indgstry is in |
(A) ~ Odisha ‘ | (B) Jharkan )
- (©) Madhya Pradesh (D) West Beflg
A . | 7
8. aﬂﬁm@mmmﬁmﬁwﬁﬂﬁﬂﬁ ,
w e o ® S s ‘
) et D) TR S

Which type of attitude emerged in urban system leaving ‘ghe_ feudal syste

behind ?
(A)  Progressive attitude - (B)  Aggressive attitude

(C)  Orthodox attitude - (D)  Exploitative attitude

B WW%W@WﬁW—ﬁWW@VW.WﬁWW

fere gom 2

W | ® T
) (?) Eilkca | | D) R
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Scanned with CamScanner



(B) NATO
(A) SAARC o) Eurbpe an Union ™
C) OPEC
. o 3, T G TR ?
10, Foree o, T SR BT & g€ Her i 4
(A) T T ®) i
' an el
(©) TETE W (D)
| Who said printing is the greatest gift of God ? ) .
. e |
(A) * Mahatma Gandhi (B) Martm,Lu_t e
’ . . t
(C)  Prophet Muhammad (D) Jesus Chris
11, R § HeRwE g S AT ?
a6 | (B) '1735?
© 187 @) 195
What is the minimum age to be a voter in India ? |
(A) 16 years L (B) 17 years
() 18 years D 19y
Lo, W% ¥ TeRE TR i A WOTTEA € 2
) e aR e R ——
) THHS AR Ty | |
: X v
[ LA L Page 6 of 24 . _
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' which organisatlon in
After the second great |

economic ill effects ?
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[ndia _entaty
th | of government 15 there 1" | and P2f iarm
e ¢ type of system Federd . entaly
We idential ®) 4 parlia®®
) pederal and Pres D) Unitary
©) Unitary and Presidentlal | | |
feyerer 7E ©
13. wWTA it i foreTeT
Hfere™ (B) A
(A) ferad | ‘
S e p
o T |
Which is not a characteﬁsﬁc of a federal state ? ipution
_ ~ jstri
(A)  Written constitution (B) power 9 diciary
. : ici
(C)  Unitary ruling system (D) Supreme e _
la. w9 GXHR H IR E
(A) TR B <=
@ A D) THE IS ol
The example of federal government is |
(A)  America ‘ (B) China
(C)  Britain | (D) None of these
15. . fr o Wt wifa @1 g Frtarad § 9 e fear 2
A | :
A RS S (B) T AR
, 7
(€) e et |
_ (D)  STAFRRT ARTHOT
% | _
ho among the following led the Sampurna Kranti L
Bihar » ranti ( Complete Revy lati .
. g olution) in
A)  Morari )
arj1 Desai
(B)  Niti
_ 9 Indira Gandhi Eshi tumar
/ [ 111]A 5011 D) Jay Prakash Naray
(11) Page 7 of 24 ‘an\
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16.

) "

18.

'mmaﬁﬁﬁmmmﬂfﬂwﬁ%?

(A) Wﬁmwﬁmaﬁ?ﬁﬂf%

)
(B) aﬁvﬁ%aﬁﬁmﬁ_ﬁmﬁﬁm%

() a@awﬁ?mwﬁwﬁﬂmmm%

(D) wﬁmﬁaﬁqﬁsﬁ@—gmmﬁmﬂ%mﬂmﬁm%

i ess ?
On which of the following points did democratic system get succ

(A)  Abolished the political differences
(B) Abolished the conflicts between the people _
(C) Majority and minority groups are treated equally

(D) Reduces the economic graide for the poeple standing in the last line

g & @ PH-6 T o i SHeReiel & IEY Tl T 2 2

(A) W%W&TW- (B) TS e fodet e

=~
) STRGHE A e - (D) EHEH I
Which one of the following is not according to the democratic system ?

(A)  Equality before law (B)  Free and fair election

(C)  Responsible ruling system (D)  Rule of majority

A ) WheT I e & | 21

(A) IR ol STRAAT T '
TR S AR-BELA Ftard w

() AR i Fryet e o
Wmmmﬁ"%%ﬁaﬁrww
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s of dernocrdcy d¢pends on

succes .
disinterest of citizens |

A ! Rl
(B; iliegal Jctivites of citizens
(C) active participation of the citizeps | |
. e S
(D) secure the penefits of their caste by the C1QZ§n
(
1o 8 &} sy 6 T FIROTH &
w &5 ¥ TS B Tregfed
o AT ) ,
Bad effect of feeling of regionalism is . | t t
i i es
(A) Attachment to own region (B) Natlonal in e.r |
(C) National integration (D) -Separatlonahsm B
00, IR © | |
() - SO HE (B) TeERO W
(©) A F o) T
Coal is
(A)  Non-renewable resource (B) Renewable resource
A (C) - Biotic resource D) None of these
21, o iy FleRROT BT T RO E
g e B) e e
O awERT N
) - ' | D) e e
The maj
he main cause of land degradation in Punjab is
) Deforestation i B -
| ‘ nte ] . .
©  oOvergrazing - | nsive cultivation -
BTN | (D) Overirrigation
“SHA [so1 .
-A — .
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2. HE YRR A ot ) A e &
(4)  55% (B),/ 60%
. | © 65% ' ‘ (D) 70%
Amount of water present in human body is .

(C)  65% ' R (D)  70% .

2. St o i rer et e e & 2

() AT ‘B) ifew
(C) & (D) el
Which of the following creatures is found only in India ?
(A) Crocodile | ’ (B) Dolphin

. (C) Whale . (D)  Tortoise

24. @ﬁ%a@wwmmw%

@) TR : (B) SRS
© U . (D) -+l s
The main raw ﬁlaterial of cement industry is |
(A)  Limestone (B)  Bauxite
(C)  Granite (D)  Iron ore.
25. WRd H el H TAIHE IAREH T &
| A)  9REw Ser | B) R@US
(C) / sffeem | D) BTG

[111]A [5011-Aay
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The leading coal producing state in India is

(A) West Bengal ' (B) Jharkhand

(C) Odisha (D) Chhattisgarh

A T T RS SR ST §
W gl aﬂt TE YA (IISCO)
(B) T AE R WM ST (TISCO)

© SR R e
D) TorreEr wiE iR T Wi

26.

The first iron and steel producing industry is
(A) Indian Iron and Steel Company (IISCO)
_(B) Tata Iron and Steel Company (TISCO)

(C)  Bokaro Steel City

(D)  Viswesvaraya Iron and Steel Plant

27, @ e TR Y

(A)/%aér@ | | (B) & =Rl |

© SEHEN" (O) ag TR

Golden Quadrilateral is related to

(A)  Railways : i (B) Roadways

(C)  Waterways B (D)  Airways
28. TS Ui ¥

&) Sfferay of B) aT@ﬁ%wﬁ

© =it D) WY
[T ——

11 '
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29.

30.

3.

Gandak project is in

(A)  Bettiah (B) Valmikinagar

(®) Motihari (D) Chapra

ﬁﬁa@aﬁwwﬁaﬁw%ﬂﬁwﬁwﬁﬁ%?
@ () EEH
(cy'aﬂwsﬁ (o) T ST

. . - d ?
In which district is Kanti T herma} Power Project situate
(A)  Purnia (B) Siwan
: . o
(C)  Muzaffarpur (D) East Champar

| Yor g e R 2

(A)  SHTR B) I

© TR | D) T

Wheré ié the railway workshop situated ?

(a) - J’axﬁélpur (B) Bhagalpur

(C)  Munger ] (D) Patna

AT T TG FRO FE ?

() R H R | | (9/ B & 7 T

(C) Ued W g | D) T I & T

What is the main cause of Tsunami ?

(A) Eérthquake in sea (B) Earthquake in plain area
(C) Earthquake on mountain . (D)  None of these.
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i

: ?
s, TEE T €
A) q@ﬁﬁ 3gal : j) A Gli}‘“ SEGIREL
( -
© qr SR o) T 3 Frs Tl
What is drought ?
(B) Man-made disaster

(A) Natural disaster |
(C) Normal disaster (D) None of these

33, JEEEH ¥
() ST ST (B)  HEENA ST
() W S D) T A i
Landslide is
(A)  Natural disaster (B) Man induced disaster
(C)  Normal disaster . (D) None of these

34, WW%W%W%

-~

) - : (B)  dshdld
i | . .
| ©) gq'ra:ﬁ | (D) g:rﬁf Ee) ﬁ'% :rbpf
The result of vibration of ocean bottom 1S
(A)  Avalanche ) (B) Cycl .
yclone
€ T i o
[ll\sunaml (D)  None of these
LA Bar .

Scanned with CamScanner



35.

36.

i

g = e WA - @
(a) O B -
(© TS adT o A

. " first is
The seismic wave reaching the earth's surface

(B) S wave

(A) P wave

(C) Lwave (D) T wave

A T €

A) ©Ad B) I Rl

€ mEaH ¥ D) & W Tl
Tsunami is related to

(A) Land (B) Sea

(@) Sky (D) None of these

@@am@r(&mﬁmmmmmm%?

(A) QS GaR %%‘{Q ; (B) IBLRERIE & fﬂQ
© G @ E ¥ et D) TRA F e -
For which purpose is remote sensing satellite used ?

(A) For telecommunication (B) For meteorology
(C)  For searching the resources (D)  For television
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fyey I TP Eil

e (B) Tt
(A) _

AR (D) SEE]
(C)
Which of the‘folloWing is the mogt sensitive city to earthqg (&

. Ranchi
(A) Dehradun (B) anc '
(C) 'H.yderabad (D) Chgnnau
39. ﬁﬁﬁ@%ﬁﬁ@‘s‘rmmm% ?
a) U | B
D) oot

Which of the following is called backward state ?
() Punjab ~(B) Kerala

(G Bihar | (D) . Delhi-

40. R  forefter o BT heT T & 2

‘(A) ,.1aﬂaﬁﬁsiﬁwaa»‘“ | (B) 1%&@50‘@”@

O 190 ¥ 31 7 o 1 s |
v ; ' 1
T : “'“_"‘“ o T Teh
: SOI.I—A ay | | Page 15 of 24 o
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' . : dié"? ‘

Which of the following is Financial year it I? 2

(A)  From 1st January to 31st Deéem?er

(B)  From 1st July to 30th June.

(C) © From 1st April to 31st March

(D) ' From 1st September to 31st August
41. ﬁwﬁqumﬁmﬁmﬁ?ﬁr% ?

(A)  FUE TR B GiL o 44

(©)  wrahT S 9rg |l D) Eﬁ@ﬁqﬁ -

Which institution promotes long term loans ?

. (A)  Agricultural lenders
B) . Lahd Devélopment Bank
(C)  Primary Agricultural Credit Society
- (D)  None of these - . .

e s o 45.
40, 3T ToeRTd &1 de0 &5 R 8 2 |

() kil (B T &

© Fmd o p) e

Which is _the third sector of Economic development ?

A A ricultufe | .

(A) g sector | (B) Science sector

C)  Education sector

© - (D) Service sector E

5011-Aan| 1

[111 ] A (11) . Page 16 of 24
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43.

44.

45.

. (€) " Globalisation

(A) 50 %0

(A)

¢ i A o o e ot 2

et I
| (A/ R . (B)
A - (D) i @ |
What was included in the New Economic Policy ?
| l ' | - B) Privatisation

(A) " Liberalisation
(D) All of these

Wmﬁmﬁﬁ%%ﬂ e e A A € 7
(B) 70 B0

) T A FRE T

(C) 10%°

What is the application fee for making a cofnplaint by the consumer o

Rs.50 o ~ (B) Rs.70

(C) Rs.10 - (D) No applicatioh fee

@ 17EE | B 15 e
' € 19 4 L | K '
, ST | D) 22 3w

W . . ‘ . ; |
hen 1s Consumer Rights Day celebrated ?

(4)  17th March ®) !

€ 19th Apri)

e
| Page 17.of 4
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* 46,

47 .

48.

SpeeRToT % g 3 feRe § 2

(A)wl }Lff

o

(€) [~ | D) E=X

How many factors constitute globalisation ?

(A) One - - (B) Two

- (Q) Five - (D) = Four

et e e § 2

B)  ¥FQar (B)_ foret QT

.(C) TeT Jel . | (D) iﬁ@?ﬂ

Which of the following is a non-government service ?

}(A-) Police service © (B) Finance service

(@] Mall service - (D) Railway service

e Y ferctr Tt fory wTeX BT e T R 2

(A)/Ké? B el

) T | (D) WIE
Which is the financial capital of India ? -
(A)  Mumbai , : (B)  Delhi

(C) Patna ' (D) Bengaluru
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